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Prove the following.
(A—=B)A(C—B)A((C'VD) -E)A(E—G) — (A — G)

(A= (BAC)A(BVD)=E)A(G'V(DVC))A(E+ G)— (A—D)

(P"V Q) = (AVB)A(P = C)A(B—C) = (C' = A)

(AVB)—= (CVD)A(CSE)A(AAE) = (DVW)

((A’VB) = Q)A(A' = (P = Q)A(A—=D)AD') = P’

(6] (A— (B— C))A(B’ = (QVG))A((GAH') = (D = B))A((AAC)VH)A(H'AQ’) — D’
((AVB) = (CVD))A(C—E)A(CVP)AAAENA(PV (D = Z) = Z

(XVY) = (YVZ)A XA = Y))A(Z—=2Z') = (Y'VZ)

[9] (B'VC') = (A = WHA(A" = (U — Z)NAUAXIAXV (W ABNA(Z — (S'VX)) = S’

(P'VQ') = (R'VSNAP — AW — (WAZNA((S" — Z)AXAY))AWV (XAY)) —
(R AW



